
SaadaMohammed-tapter1 :

* if all links Rate are equal (R) : -

totalDelay = & trans + d-prop

=> t(#Pkts) + -(thops)+(link)

* if the links Rate are different :-

assume 2 links -> R
. XR2

D) prop= links)

D-trans=#PKT)+

total Delay = D-trans + D-prop

* Queueing Delay :

-

L : packet size , R : transmissionRate

a : average packet arrival rate (Packet/sec
La : bits/sec Etraffic Intensity (1)=
-

>so,smallqueueing de
e

=> >7 , infinite queueing day (loss)

* quencing Delay = I (E) (1-1) for IL1Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Apter3 old old

&
D b

* EstimatedRTT= (1-4) EstimatedRTT +& Sample RT+

typically : 2 = 0. IS

* Timeout Interval = EstimatedRTT+ Y * DIVRTT

old
R

-> DIVRFT= D-B) DIURTT

+ B/sample RTT- EstimatedTT/

typically : B = 0 .25

rund : # bytes can read by receiver (free space
Buffer)

At Receiver :

LastByteRecieved-Last ByteRead _1 RCVBuffer
rund= RLUBuffer

= (LastByteReceived- LastByteRead)

AtsendereSent-LastByteAcked& round

Reno = 3 duplicate Acked cut by half
Takeo timeout Cut to 1 MSS
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* TCP sender limits transmission :

last ByteSant - last Byteacked I cond

=> TCP Rate=and bytes/e
Sthreshold = EXWnd (When event is

loss)
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Chapter 4
-

Router output links buffer :

buffer >: RTT X Capacity = RTTXC

[=y

Address classes

Class A : Network .
host host. host
-

OXXXXXXX . *.*. *

subnetmak 25s . 0 . 0 .

0 (0)

the first octet can be from 11-126)
=> there are 126 Available Networks

24

# hosts = 2 -2

Class B : Network.Network. nost host
-

10XXXXXX . *.*. *

Subnetmast 255 . 25S . 0 .
0 (116)

the first octet can be from (120-191)
=> thereare"Available Networks

16

#hosts = 2-w
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class C Network.Network .Network : host
-

110 XXXXX . *. *.*

Subnetmask ess . 25s . 25s . 0 (124)
the first octet can be from (192-223)

21

=> there are 2 Available Networks

#hosts = 20-2

Class D 1110 XXXX . *.*.*

-

Reserved formulticast traffic
e.g. Can't use onyour Network.

Multicast traffic : traffic sent to multiple
hosts using one IP

for ex. a live web cast of a rock concert

first octet can be from (224-2391

Class E 1111XXXX . *.#. *
-

Reserved for experimental use only
first octet can be from 1240-25s)

Addresses Reserved for private use
use

ClassA : 10 . 0
. 0 . 0- 10 . 25s

. ess. 2SS

Class B : 172 .
16

. 0.0- 172 . 31
.
ESS . eSS

class : 192
. 168. 0 .

0- 192 . 168.
25s

.
25
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